

The Counting Processes that the Number of Events in $[0, t]$ has Generalized Poisson Distribution

Jeong Hyun Park

Abstract It is derived that the conditions of counting process $\{N(t)|t \geq 0\}$ in which the number of events in time interval $[0, t]$ has a $(n, n+1)$ -generalized Poisson distribution with parameters (θ, λ) and a generalized inflated Poisson distribution with parameters (λ, ω) .

Keywords : $(n, n+1)$ -generalized Poisson, generalized inflated Poisson

1. Introduction

Rao and Rubin (1964) introduced a generalized Poisson distribution with two parameters. This distribution has been attempted to take into account errors in recording a variable which in reality does have a Poisson distribution. Definitions of generalized Poisson distribution is the following:

Definition (Rao and Rubin) The discrete random variable X is said to be a generalized Poisson with parameters (θ, λ) if

$$\begin{aligned} \text{i) } P\{X = 0\} &= e^{-\theta}(1 + \theta\lambda). \\ \text{ii) } P\{X = 1\} &= \theta e^{-\theta}(1 - \lambda). \\ \text{iii) } P\{X = n\} &= \frac{\theta^n}{n!} e^{-\theta}, \quad \text{for } n = 2, 3, 4, \dots \end{aligned}$$

The generalized Poisson distribution is a Poisson distribution when $\lambda = 0$.

Cohen (1960a) introduced another generalized Poisson distribution which arises in a model representing a situation in which (with probability λ) a value $(n+1)$ is classified as n . For convenience, this generalized Poisson distribution is called a $(n, n+1)$ -generalized Poisson. The definition of a $(n, n+1)$ -generalized Poisson is the following

Definition (Cohen) The discrete random variable X is said to be a $(n, n+1)$ -generalized Poisson with parameters (θ, λ) if

Jeong Hyun park is a Associate Professor of the Department of Computer Science and Statistics, Kwandong University, Kangnung, 210-701.

- i) $P\{X = k\} = e^{-\theta} \left(\frac{\theta^k}{k!} \right) \quad (k = 0, 1, 2, \dots, n-1, n+2, n+3, \dots)$
- ii) $P\{X = n\} = e^{-\theta} \left(\frac{\theta^n}{n!} \right) \left\{ 1 + \frac{\lambda \theta}{(n+1)} \right\}.$
- iii) $P\{X = n+1\} = e^{-\theta} \left(\frac{\theta^{n+1}}{(n+1)!} \right) (1 - \lambda).$

The generalized Poisson distribution defined by Rao and Rubin is (0,1)-generalized Poisson distribution and $(n, n+1)$ -generalized Poisson distribution is Poisson distribution when $\lambda = 0$. Park (1995) introduced conditions that the number of events in time interval $[0, t]$ has (0,1)-generalized Poisson distribution with parameters (θ, λ) .

Singh (1966) introduced a generalized inflated Poisson distribution. Other names for this distribution are 'pseudo-contagious' (Cohen, 1960b) and modified Poisson. The definition is the following;

Definition (Singh) The discrete random variable X is said to be a generalized inflated Poisson with parameters (λ, ω) if

- i) $P\{X = 0\} = \omega + (1 - \omega)e^{-\lambda}$
- ii) $P\{X = k\} = (1 - \omega)e^{-\lambda} \left(\frac{\lambda^k}{k!} \right) \quad (k \geq 1).$

2. Main results

The theorem for the conditions that the number of events in interval $[0, t]$ is a $(n, n+1)$ -generalized Poisson distribution is developed as following:

Theorem 1 If the counting process $\{N(t) | t \geq 0\}$ is satisfying

1. $N(0) = 0$
2. $P\{N(t+h) - N(t) = 1 | N(t) = k\} = \theta h + o(h) \quad (k = 0, 1, \dots, n-1, n+2, \dots)$
3. $P\{N(t+h) - N(t) = 1 | N(t) = n\} = \theta h + \frac{(n+1)\theta\lambda h}{n+1+\theta\lambda t} + o(h)$
4. $P\{N(t+h) - N(t) = 1 | N(t) = n+1\} = \frac{\theta h}{(1-\lambda)} + o(h)$
5. $P\{N(t+h) - N(t) \geq 2 | N(t) = y\} = o(h) \quad (y = 0, 1, 2, \dots).$

then the number of events in interval $[0, t]$ is a $(n, n+1)$ -generalized Poisson distribution with parameters (θ, λ) .

Proof Let $P_k(t) = P\{N(t) = k\}$. Suppose $k \leq n-1$, then the differential equation for $P_k(t)$ is derived as following manner:

$$\begin{aligned}
P_k(t+h) &= P\{N(t+h) = k\} \\
&= P\{N(t) = k\}P\{N(t+h) - N(t) = 0 | N(t) = k\} \\
&\quad + P\{N(t) = k-1\}P\{N(t+h) - N(t) = 1 | N(t) = k-1\} \\
&\quad + \sum_{i=2}^k P\{N(t) = k-i\}P\{N(t+h) - N(t) = i | N(t) = k-i\} \\
&= P_k(t)\{1 - \theta h + o(h)\} + P_{k-1}(t)\{\theta h + o(h)\} + o(h).
\end{aligned}$$

Hence,

$$\frac{P_k(t+h) - P_k(t)}{h} = -\theta P_k(t) + \theta P_{k-1}(t) + \frac{o(h)}{h}.$$

Letting $h \rightarrow 0$ yields

$$P'_k(t) = -\theta P_k(t) + \theta P_{k-1}(t) \quad (1)$$

When $k=0$, the differential equation provides

$$P'_0(t) = -\theta P_0(t).$$

The solution of the above differential equation is $P_0(t) = C_0 e^{-\theta t}$ and the condition $P_0(0) = 1$ implies that $C_0 = 1$. Thus

$$P_0(t) = e^{-\theta t} \quad (2)$$

When $k=1$, the differential equation (1) together with the result (2) provides

$$P'_1(t) = -\theta P_1(t) + \theta e^{-\theta t}.$$

whose general solution is $P_1(t) = \theta t e^{-\theta t} + C_1 e^{-\theta t}$. the boundary condition $P_1(0) = 0$ makes $C_1 = 0$. Thus

$$P_1(t) = \theta t e^{-\theta t}.$$

Now, by taking $k = 2, 3, \dots, n-1$ it can be shown by same method that the solution to these differential equation in (1) with the boundary conditions $P_0(k) = 0$ for $k = 2, 3, \dots, n-1$ are

$$P_k(t) = e^{-\theta t} \frac{(\theta t)^k}{k!}, \quad k = 2, 3, \dots, n-1.$$

Suppose $k=n$,

$$\begin{aligned}
P_n(t+h) &= P\{N(t+h) = n\} \\
&= P\{N(t) = n\}P\{N(t+h) - N(t) = 0 | N(t) = n\} \\
&\quad + P\{N(t) = n-1\}P\{N(t+h) - N(t) = 1 | N(t) = n-1\}
\end{aligned}$$

$$\begin{aligned}
& + \sum_{i=2}^n P\{N(t) = n-i\}P\{N(t+h) - N(t) = i | N(t) = n-i\} \\
& = P_n(t)\{1 - \theta h + \frac{(n+1)\theta\lambda h}{n+1+\theta\lambda t} + o(h)\} + P_{n-1}(t)\{\theta h + o(h)\} + o(h).
\end{aligned}$$

Hence,

$$\frac{P_n(t+h) - P_n(t)}{h} = \left(-\theta + \frac{(n+1)\theta\lambda}{n+1+\theta\lambda t}\right)P_n(t) + \theta P_{n-1}(t) + \frac{o(h)}{h}.$$

Letting $h \rightarrow 0$ yields

$$P'_n(t) = \left(-\theta + \frac{(n+1)\theta\lambda}{n+1+\theta\lambda t}\right)P_n(t) + \theta P_{n-1}(t). \quad (3)$$

From the differential equation (3),

$$\begin{aligned}
P_n(t) &= e^{-\int\left(\theta - \frac{(n+1)\theta\lambda}{n+1+\theta\lambda t}\right)dt} \int \theta \frac{(\theta t)^{n-1}}{(n-1)!} e^{\int\left(\theta - \frac{(n+1)\theta\lambda}{n+1+\theta\lambda t}\right)dt} dt \\
&\quad + C_n e^{-\int\left(\theta - \frac{(n+1)\theta\lambda}{n+1+\theta\lambda t}\right)dt} \\
&= e^{-\theta} (n+1+\theta\lambda t)^{n+1} \frac{\theta^n}{(n-1)!} \int t^{n-1} (n+1+\theta\lambda t)^{-(n+1)} dt \\
&\quad + C_n e^{-\theta} (n+1+\theta\lambda t)^{n+1}
\end{aligned}$$

Since

$$\begin{aligned}
&\frac{\theta^n}{(n+1)!} \int t^{n-1} (n+1+\theta\lambda t)^{-(n+1)} dt \\
&= -\frac{(\theta t)^{n-1}}{n!\lambda} (n+1+\theta\lambda t)^{-n} - \frac{(\theta t)^{n-2}}{n!\lambda^2} (n+1+\theta\lambda t)^{-n+1} \\
&\quad \dots - \frac{1}{n!\lambda^n} (n+1+\theta\lambda t)^{-1} \\
&= -\sum_{i=1}^n \frac{(\theta t)^{n-i}}{n!\lambda^i} (n+1+\theta\lambda t)^{-n-1+i},
\end{aligned}$$

then

$$P_n(t) = -e^{-\theta} \sum_{i=1}^n \frac{(\theta t)^{n-i}}{n!\lambda^i} (n+1+\theta\lambda t)^i + C_n e^{-\theta} (n+1+\theta\lambda t)^{n+1},$$

By boundary condition $P_n(0) = 0$,

$$C_n = \frac{1}{(n+1)! \lambda^n}$$

Thus

$$P_n(t) = e^{-\alpha} \left(\frac{\theta^n t^n}{n!} \right) \left\{ 1 + \frac{\lambda \theta t}{(n+1)} \right\}.$$

Next, suppose $k=n+1$,

$$\begin{aligned} P_{n+1}(t+h) &= P\{N(t+h) = n+1\} \\ &= P\{N(t) = n+1\} P\{N(t+h) - N(t) = 0 \mid N(t) = n+1\} \\ &\quad + P\{N(t) = n\} P\{N(t+h) - N(t) = 1 \mid N(t) = n\} \\ &\quad + \sum_{i=2}^{n+1} P\{N(t) = n+1-i\} P\{N(t+h) - N(t) = i \mid N(t) = n+1-i\} \\ &= P_{n+1}(t) \left\{ 1 - \frac{\theta h}{1-\lambda} + o(h) \right\} + P_n(t) \left\{ \theta h - \frac{(n+1)\theta \lambda h}{n+1+\theta \lambda t} \right\} + o(h). \end{aligned}$$

From

$$\begin{aligned} P_n(t) &= e^{-\alpha} \left(\frac{\theta^n t^n}{n!} \right) \left\{ 1 + \frac{\lambda \theta t}{(n+1)} \right\} \\ P_{n+1}(t) &= e^{-\frac{\alpha}{1-\lambda}} \int \left\{ \frac{(\theta t)^n}{n!} + \frac{\lambda (\theta t)^{n+1}}{(n+1)!} \right\} \left(\frac{(n+1)\theta(1-\lambda) + \theta^2 \lambda t}{n+1+\theta \lambda t} \right) e^{\frac{\alpha}{1-\lambda}} dt \\ &\quad + C_{n+1} e^{-\frac{\alpha}{1-\lambda}} \\ &= \frac{(\theta t)^{n+1}}{(n+1)!} (1-\lambda) e^{-\alpha} + C_{n+1} e^{-\frac{\alpha}{1-\lambda}}. \end{aligned}$$

By boundary condition $P_{n+1}(0) = 0, C_{n+1} = 0$, thus

$$P_{n+1}(t) = e^{-\alpha} \frac{(\theta t)^{n+1}}{(n+1)!} (1-\lambda)$$

Suppose $k=n+2$,

$$\begin{aligned} P_{n+2}(t+h) &= P\{N(t+h) = n+2\} \\ &= P_{n+2}(t) \{1 - \theta h + o(h)\} + P_{n+1}(t) \left(\frac{\theta h}{1-\lambda t} \right) + o(h) \end{aligned}$$

and

$$P_{n+2}(t) = e^{-\theta} \int \frac{\theta(\theta t)^{n+1}}{(n+1)!} dt + C_{n+2} e^{-\theta}.$$

By boundary condition $P_{n+2}(0) = 0$, we obtain $C_{n+2} = 0$. Thus

$$P_{n+2}(t) = e^{-\theta} \frac{(\theta t)^{n+2}}{(n+2)!}.$$

Now, by taking $k=n+3, n+4, \dots$ it can be shown by mathematical induction that the solution to equation (1) with boundary conditions $P_k(0) = 0$ for $k=n+3, n+4, \dots$ are

$$P_k(t) = e^{-\theta} \frac{(\theta t)^k}{k!}, \quad k = n+3, n+4, \dots.$$

Hence the number of events in interval $[0, t]$ has a $(n, n+1)$ -generalized Poisson distribution with parameters (θ, λ) .

Next, we find conditions that the number of events in interval $[0, t]$ is generalized inflated Poisson distribution.

Theorem 2 If the counting process $\{N(t) | t \geq 0\}$ is satisfied with

1. $N(0) = 0$
2. $P\{N(t+h) - N(t) = 1 | N(t) = 0\} = \left(\lambda - \frac{\lambda\omega}{\omega + (1-\omega)e^{-\lambda t}} \right) h + o(h)$
3. $P\{N(t+h) - N(t) = 1 | N(t) = n\} = \lambda h + o(h) \quad n \geq 1$
4. $P\{N(t+h) - N(t) \geq 2 | N(t) = y\} = o(h) \quad (y = 0, 1, 2, \dots).$

then the number of events in interval $[0, t]$ is a generalized inflated Poisson distribution with parameter $(\lambda t, \omega)$.

Proof Let $P_n(t) = P\{N(t) = n\}$. The differential equation for $P_0(t)$ is derived as following manner:

$$\begin{aligned} P_0(t+h) &= P\{N(t+h) = 0\} \\ &= P\{N(t) = 0\} P\{N(t+h) - N(t) = 0 | N(t) = 0\} \\ &= P_0(t) \left\{ 1 - \lambda h + \frac{\lambda\omega h}{\omega + (1-\omega)e^{-\lambda t}} + o(h) \right\}. \end{aligned}$$

Hence,

$$\frac{P_0(t+h) - P_0(t)}{h} = - \left(\frac{\lambda(1-\omega)e^{-\lambda t}}{\omega + (1-\omega)e^{-\lambda t}} \right) P_0(t) + \frac{o(h)}{h}.$$

Letting $h \rightarrow 0$ yields

$$P_0'(t) = -\left(\frac{\lambda(1-\omega)e^{-\lambda t}}{\omega + (1-\omega)e^{-\lambda t}}\right)P_0(t).$$

which implies, by integration,

$$P_0(t) = C_0\{\omega + (1-\omega)e^{-\lambda t}\}.$$

Since $P_0(0) = P\{N(0) = 0\} = 1$, we obtain that $C_0 = 1$. Thus

$$P_0(t) = \omega + (1-\omega)e^{-\lambda t}.$$

When $k=1$, $P_1(t) = P\{N(t) = 1\}$.

$$\begin{aligned} P_1(t+h) &= P\{N(t+h) = 1\} \\ &= P\{N(t) = 1\}P\{N(t+h) - N(t) = 0 | N(t) = 1\} \\ &\quad + P\{N(t) = 0\}P\{N(t+h) - N(t) = 1 | N(t) = 0\} \\ &= P_1(t)\{1 - \lambda h + o(h)\} + P_0(t)\left(\lambda h - \frac{\lambda\omega h}{\omega + (1-\omega)e^{-\lambda t}} + o(h)\right). \end{aligned}$$

hence,

$$\frac{P_1(t+h) - P_1(t)}{h} = -\lambda P_1(t) + \lambda(1-\omega)e^{-\lambda t} + \frac{o(h)}{h}.$$

On taking the limit as $h \rightarrow 0$, we get the differential equation

$$P_1'(t) + \lambda P_1(t) = \lambda(1-\omega)e^{-\lambda t}. \quad (4)$$

The solution of the differential equation (4) is

$$P_1(t) = (1-\omega)\lambda te^{-\lambda t} + C_1e^{-\lambda t}.$$

and the condition $P_1(0) = 0$ implies that $C_1 = 0$. Thus

$$P_1(t) = (1-\omega)\lambda te^{-\lambda t}. \quad (5)$$

Let $k \geq 2$,

$$\begin{aligned} P_k(t+h) &= P\{N(t+h) = k\} \\ &= P\{N(t) = k\}P\{N(t+h) - N(t) = 0 | N(t) = k\} \\ &\quad + P\{N(t) = k-1\}P\{N(t+h) - N(t) = 1 | N(t) = k-1\} \\ &\quad + \sum_{i=2}^k P\{N(t) = k-i\}P\{N(t+h) - N(t) = i | N(t) = k-i\} \\ &= (1-\lambda h)P_k(t) + \lambda hP_{k-1}(t) + o(h). \end{aligned}$$

Thus,

$$\frac{P_k(t+h) - P_k(t)}{h} = -\lambda P_k(t) + \lambda P_{k-1}(t) + \frac{o(h)}{h}.$$

On taking the limit as $h \rightarrow 0$, we get the differential equation

$$P'_k(t) + \lambda P_k(t) = \lambda P_{k-1}(t). \quad (6)$$

When $k=2$, the difference differential equation (6) with the result (5) provides

$$P'_2(t) + \lambda P_2(t) = (1 - \omega)\lambda^2 t e^{-\lambda t}.$$

The solution of the above differential equation is

$$P_2(t) = (1 - \omega) \frac{(\lambda t)^2}{2} e^{-\lambda t} + C_2 e^{-\lambda t}.$$

and the condition $P_2(0) = 0$ implies that $C_2 = 0$. Thus

$$P_2(t) = (1 - \omega) \frac{(\lambda t)^2}{2} e^{-\lambda t}.$$

Now, by taking $k=3,4,\dots$ it can be shown by mathematical induction that the solution to the equation (6) with boundary conditions $P_k(0) = 0$ for $k=3,4,\dots$ are

$$P_k(t) = (1 - \omega) \frac{(\lambda t)^k}{k!} e^{-\lambda t}, \quad k = 3, 4, \dots.$$

Hence, the number of events in interval $[0, t]$ has a generalized inflated Poisson distribution with parameters $(\lambda t, \omega)$.

References

- Cohen, A. C. (1960a), *Estimating the parameters of modified Poisson distribution*, Journal of the American Statistical Association, Vol. 55, 139-143.
- Cohen, A. C. (1960b), *On a class of pseudo-contagious distribution*, University of Georgia, Institute of Statistics. Technical Report N0.11 (1960b)
- Cohen, A. C. (1959), *Estimation in the Poisson distribution when sample values of $(c+1)$ are sometimes erroneously reported as c* , Annal of Institute of Statistical Mathematics, Tokyo, 11, 189-193.
- Johnson, N. L. and Kotz, S. (1969), *Discrete Distribution*, Houghton Mifflin Company.
- Kingman, J. F. C. (1993), *Poisson Processes*, Oxford Science Publications.
- Park, J. H. (1995) *k-Generalized Poisson Process*, Journal of Kwandong University vol.23, 293-299.
- Park, J. H. and Choi, J. K. (1991), *Note On Poisson Processes*, Journal of Research Institute Industrial Technology Kyungpook Univ. Vol 19, 271-296.
- Rao, C. R. and Rubin, H. (1964), *On a characterization of the Poisson distribution*, Sankhya, Series A, 26, 256-298.

- Ross, S. M. (1993), Introduction to probability Models, Fifth Edition Academic Press, Inc.
- Singh, S. N. (1966), *A note on inflated Poisson distribution*, Journal of Indian Statistical Association, 1, 140-144.